Cycle 1, Diffs

Cycle 1, Sums

Entries: 1380
Mean: -0.0016 +/- 0.0058
Std Dev: 0.2157 +/- 0.0041

Entries: 3537
Mean: 0.1234 +/- 0.0053

Std Dev: 0.3128 +/- 0.0037
Run 4618 guarietwise, Diffs

Entries: 4083
Mean: 0.0029 +/- 0.0034
Std Dev: 0.2178 +/- 0.0024
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Cycle 1, Asyms

Entries: 1380
Mean: -0.0002 +/- 0.0006
Std Dev: 0.0234 +/- 0.0004

Entries: 3537
Mean: 0.0135 +/- 0.0006

Std Dev: 0.0340 +/- 0.0004
Run 4618 gquartetwise, Asyms

Entries: 4083
Mean: 0.0003 +/- 0.0004
Std Dev: 0.0236 +/- 0.0003
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Entries: 1380
Mean: 16.8529 +/- 0.0087
Std Dev: 0.3214 +/- 0.0061

Entries: 3537
Mean: 25.6260 +/- 0.0084

Std Dev: 0.5001 +/- 0.0059
Run 4618 guarietwise, Sums

Entries: 4083
Mean: 15.9769 +/- 0.0045
Std Dev: 0.2872 +/- 0.0032
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AcclMAccD:mpsCoda {mpsCodasz=36340 && mpsCoda<=119843 && beamSlale==1}
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lazerState

cavPowerCalibrated

laserState:mpsCoda {mpsCoda>=36940 && mpsCoda<=119643) beamState + 1:mpsCoda {mpsCoda>=36940 && mpsCoda<=119643)

= T L
— 4
4.5 5 3 —
: g T
== - - - : s [
— 0 |
35 25—
3 B
25 2
2 B
1.5 15—
1= — _ i} B
.E|1:|||||||||||||||||||||||||||||||||||||||||||||||||:3'€'Hfi|:3 WS NN N RN NS R NS NS N e el
30 40 50 60 70 80 a0 100 110 120 30 40 50 &0 70 80 a0 100 110 120
mpsCoda mpsCoda
cavPowerCalibrated:mpsCoda {mpsCoda==36940 && mpsCoda<=119643} bem:mpsCoda {mpsCoda>=36940 && mpsCoda<=119643)
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